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Over there its use in not convenient — ONWSHARN RO RY AN

OVERVIEW
The X7 states that a N7 79p does not have the status of °»7 23"772 23"77 "N
because 7 nwnwn &m0 X2, It would follow that in a case where it is 7°Pnw nwn Xl it
would be considered as a 7"77. NBOIN question is, that since 71"77 77X is more X1
T nwnwn than a 01 7P it should have the same status as 1" 70.

— M7 0290 MY IND ]J:Hb D90 MY TN
The 2''7719 578, however, do not have the status of a 9''779 according to the 3129,
who argue with '1yHx " -
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Even though the use of 7"77 >7X is more convenient than a N> 392, which would
therefore lead one to believe that 2"119 >7% should be °»7 2"1772, similar to 2"737 0.

mdoINn proves his point that 7"77 >7¥ is a more convenient usage than a n°7 17p:

— Hryh NYIDTI T 172 NN D291 MY 1783 1T ITYIYN %29 199N NN
For even =21¥°»X '1 who argues in the case of 1''177 978, and maintains that they are
"7 7"170 (as opposed to the 13127 who maintain that X5X °»7 2"772 KD 2"77 7%
M7 n°9n133), nevertheless he admits that a n»r 379 is °»7 972703, as I have

explained previously®. We see that 7"77 7% is more 7nw"»wn X3 than a N 1P, which
explains why 71¥°9% "1 maintains that a v 19 is a n°917, while 7 9"772 9"77 7. It should
follow therefore, that since “»7 17"772 7"77 11, we should confer (even according to the 1127) on
the 1"77 >7X the status of 7"77 7, which according to *°2X are °»7 7"773. Why therefore do the
7127 maintain that 27 2"7772 X2 7" 77%?

mooIn responds:
$990 NINYINYN NN D290 MY 29INT D297 MY 29N 1N KD 991 179N

Nevertheless it does not have the status of 2'';19 577 for the usage of 2''519 "W is
more convenient even than the usage of 7"711 >7x.

SUMMARY
There are different levels of 7nw nwn X1, The least 7w »wn Rl is a M7 1P
(which is a ¥"123% n°9»12), the most is 7"7771 10 (which is a ¥"13% 2" [according to

' See xma previously X, 7.
2 See 71X XY 1"7 X7 'OMN
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»ax]), and 1"771 >7¥ is somewhere in between (according to the 1327 it is n°71125 and
according to X"7 it is 1"7172). In order for an area to be recognized as an extension
of the 7"717 it must have the convenience of at least 7"737 >, anything less, even if
it has the convenience of 7"777 *7X is not sufficient to render it a 7"77 (according to
the 1127).

THINKING IT OVER
1. What concept, can we say, changed from n901n question to his answer?

2. What may be the practical reason why 2"777 > are more 7 nw°»wn X101 than *7X
1" ?

3. m1oIN asserts that 7"737 *7X are more 7°NW HWN X1 that N7 1P, Why then did
X127 ask on *2X (who maintains 27 7"772 2"77 >77) from a X7 of ¥ (regarding a
N7 7P that it is a n°91713), when he could have asked from a 71wn (in [R,7X] 1°217°Y)
where the 0°»21 maintain that (even) 1"777 77X are not 7 2"

? See 7" 'oin.
* See X"ow L[TRA] R"wAnn and 2now pnn.
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